TR IEE (202 145K MMFESERRES

h@ kA 28E

HEEThE T B & B &

* A BAETH HERFAT1 2 5F
R E M & & TREEAI T TERS

(A - g = &k T ®H# - 78

MIEHEEDLFE  BAY S THEERE

SM3IE (202 14F) £F4H 1 AHEEEEZ b THBEEORMFOREEZZ T L
EEDREEESL, T4 (2022£) 3A31ITRTLEDT, HFEREELE
ZTCHELET,

FHEY G 2T TR E TR ANEE 4 31,700
B & EHEHNES 4 31,700

S FEHEINRFHE & 0 H



(2—1)

Wb E O E 0 KK E

AxMF R A Ef5 144818

: oA (HRBLEZEED.)
MEmEOWE | B R A (GF144 383 1 BHE)

BEieE R ENY ZTEBOER

HWIHEEEONE | RO LEY,

e 1 s | 77 7 ERB L OHREHOSMET L HAESHODESL
- U ORI F 5 L,




(2—2)
EANT T THERENEUAE (A

1 =HRAEAE B &B=)

HP

FAEH B % OB %

4 A e TH - RE FEHE - HE FER)

6H F1EkES ENZFTERHCNT

2 A FeERBES “BaeTaes
A
H
A

2 FHEWNE (EEPNLBER-IYDOEHD, 77 T7TRKEOHSTEES)

i A ® ¥ A &
10A8 BREPHERIT (b2 - SHREE)
114 HElL EHLhEREr¥—
12H Bz HUmEE-¥—
H

oIm|n|m|m |z |m|m




(2 —13)

OB F ¥ % o N X OB E ZE
(F3FEE (202 1FE) BAY Z7ESEGINE)
A DE
(Efz : {)
@ e S AP ERFHD DO
35, 75, 3%, & iR
i B2 TIE .
o B i
= ® 27,000 | 16,000 27,000 2215'70 0 6’,5"}':3 1 A3,000M X9 A
(BEED 1 77 20,000 [
& 31,000 | 31,000 31,700 1 31 ;’?BG 700 700 :
(EEEN1, 00 OXESEE
HitE&F 0
1,000 | 1, 0 i 0
_ 000 a N1.000 | A !}00
wm o & 5,000 5,000 5,460 5),6&60 460 440 | RIS BEMEG
& 64,000 | 53,000 | 64,160 | 49,730 160 | £'730

K Eigh 2R 20,000 §+1,300 @ x 9 A= 31,700 @
(FfM3F (20214F) 48 1 RREDIELEI)

X HOH
(Kif7 : @)
m g AR T EBD AEFREED HRO—@ i
- 5, 56, 56, N R
B B i SR
o i k5]
£ 10,000 | 10,000 10,000 ."GJUGD ] 0 | %%, WEAMERY

" ¥ R 38,000 | 38,000 44,730 | 44730 | AB,730 5{9‘,’]30 B, THESSRE

T O¥ % 11,000 | 5000 9,430 | 5000 | 1,570 0 @%ﬁ%(ﬁm%ﬁﬁ)
4, 430H IHTEFNERR

BT - Rk 5,000 0 0 ) 5,000 U | B8 - ReSEUHNHHENER

M Oy & 0 0 0 g 0 0

T W & 0 0 0 0 0 0

) o 64,000 [ 53,000 | 64,160 |59 730 A160 | 26730

RXFEF | 0H




SFIB4EHE (202145 0E) IR R NIk

RADHER -
— _ L
H__H P T e AR e ) iR

= & 27,000 27,000 O[LA 3,000 %9 A
it Bh 4 31,000 31,700 700(1,300 X 9A + 20,0001

HreEDMeITA 1,000 0 21,000
H4ERE
ity 5,000 5,460 460

& at 64,000 64,160 160
X HOE ,
— Hizr: M
I £ 3 . OIS G O M ) —
= I 10,000 10,000 N2, RESHERE
O B 38,000 44,730 A 6,730 BARE., THESSRE
] 5 B 11,000 9,430 1,570 |e2BrERE
B Arp 5,000 0 5,000
F W B 0 0 0
& = 64,000 64,160 A 160
IR 4R 0 H

EFROERY, HESRWZLEFEHALET,

TRHEAITTERS

2 Kk & B

—




